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Attempt all the questions.
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(a)

(b)

What do you mean by Investment Decision
Process ? How is it going Eghclp investors
in making sound inveét_me.@decisiox;s ?
The return on two segurities under four
possible states of na&é) are given :

State of
Nature

Probabili )
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Return on
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Return on
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Find
)

Security B.
(i) Risk (in terms of S.D.) on Security A

an

d B.

Expected Retumn on Secunty A and
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(iii) Covariance between the returns on
Security A and B.

(iv) Coefficient of correlation between the

returns on Security A and B, 9
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(a) Differentiate between

(i) Security market line and capital

market line.
(ii) Systematic and Unsystematic Risk. 6

(b) Mr. Z is considering investment in

securities A and B whose details are given

AO B
Expected Return @% 32%

N

Risk i.e. S.D. @8% 14%

as below :

Ifa portfolioé’f’ 60% of A and 40% of B is

formed, ﬁ

(1) ‘ggected Return of Portfolio.

(1) Minimum Risk of Portfolio.

(iii) Maximum Risk of Portfolio. 9
(F) IR AT :

(i) ey = dR et Ot araw dfe

(i) =yafeT 3R sroafen wifey
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A, B

T WiThet 26% 32%
wifey s S.D. 8% 14%

AT A F 60% TwHiGar R B & 40%
nieRifer Ft dar ferm s ot ST g

(i) mmmmﬁmm@

(if) méﬁwmqmﬂ%u
(1i1) mﬂmw

“@

N

2. (a) Examine the e@]onshlp between time to
maturity and ihd valuation, with the help

ofa dlagra}% 6

(h) A compa% 1s contemplating to issue bonds
having face value of ¥ 10,000 which will be
redeemed over a period of 5 vears in five
equal annual instalments. The bond carries
a coupon interest rate of 7%. Find the value
at which the bonds shall be issued to the
investors having expected rate of retumn at
11%. 9

9601 5 P.T.O.
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(a)

(b)

ARG H g ¥ uiveeEr % WHT I e
Tedie 1 wEY Y i

s HU T 10,000 % i Beg Jret del ®
IR FH o W E ¥ R 5 wEr @t
foedl § 5 ¢ ot Aty | g1 ferar s 1 &
% T 7% S &7 ST U FO fear T ¥
Fravet @t 3 e fhw g W S e s
T Wi Wfawa s 1% & 1

OR/argar

What is meant by C@fﬁcient Market
Hypothesis ? What aré_its various forms ?
Explain with the hdé@f suitable diagram.

Mr. Nanda wi@“ to invest some of his
funds in a s%‘many. His analyst have
advised hivﬁ:bo buy shares of a company
which hz}égiven a current dividend of
T 3.00. ﬁvidends are expeoled'to grow at
20% ‘%r 10 years and thereafter 8%
perpetually. Find out the value of the equity
share. The required rate of return of
Mr. Nanda 1s 10%.
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WA e i Fele 4 & S a3 T 3.00
1 e}, THIY A & | R 10 9o 9% 20%
P W A TG F A T IR I AW 8%

' oTER | T 9 @ Sind T S |

fiey =131 Y Sifed Wawet 5T 10% & |

Examine critically Harry Markowitwﬁodel giving
its assumptions and limitations.  (J

ng@%ﬂmﬁ%}%ﬁﬁwﬁ@

3T T et Sl Himait 1

@

(b)

S
J A

An investor bu @0 shares of ABC Ltd. @
¥ 300 per sharg 1fr the cash market. In order to
hedge, he § 400 futures of ABC Ltd. @
T 200 eac e share price and futures price
decline by 8% and 4% the very next day
respectively. He closes his positions next day
by counter-transactions. Find out his profit or
loss.

Sanjay has bought call and put options. Each
contract is of 100 shares.

(1} He has purchased one 3 months call
with a strike price of T 52 and T 2 as
premium.

15
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(2) He has paid T 1.00 per share premium
for a three months put with a strike
price of T 50. Find out -

(i)  What would be Sanjay’s position
if the stock price moves up to
¥ 53 in 3 months.

(i) What would be his position if the

stock price falls to ¥ 46 in 3
months. O

) Qa?ﬁaWABc %600 v T 300 Wiq

WaﬁaﬁWa&Tﬁ@ﬂm%am
% FHRY I ABC F 400 AR T 200 I
W@éﬂé?ﬂ\ Fa 3T amEr Fma
HAT: 8% :fﬁ@% et &t T ot &
ag et R or feferdt 9t wrerdiR @
AT FERA T | 9 AW 4@ A A T
T o

o 3 et 3 T S Wi | e s
100 L HF & 1

(1) 39 T 52 Qs FiAd R T 2 ifgag
HETH 3 UE H T B GO |

) TOEEFHTMF AT RS
% few T 1wl v iftem arer ¢ R
T
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() 35 T Hwd A A% F ¥ 53 9% 5F
St & o Gorg ot fearfe s a0

(i) g <H Fna AT TR T T 46 9w W
St & ot SE el = gt 2

(a) Write short notes on : ’&
(i) Credit~Rating
() Capital As@{t’x‘iciﬁg Model of

Security Valuiation ' 6
Q

(b) Giventhe foll% ng information :

AN N

Portfolio, v Expected | Risk i.e.

‘é Return S.D.

22% 18%

A
~
£ 30% 24%
B
C

20% 15%

It is further given that return on market index and
risk-free asset is 19% and 10% respectively. The
standard deviation of market index is 12%.
Which of the portfolio are efficient and
inefficient on the basis of capital market line ? 9

9 P.T.O.
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@) whre feofor fefe -
() e i
(i) g eaiE & o ofwfn F-
fyRor g

(@) Bt gt A T E

mRwfrat | wefi| | wifaw
ufwa | gl S.D.
A 30% | 24%
B 22% G_?%
C 20%  o715%

Afar-gea TRETT | FAL: 19% AN 10%
T |mqa'eﬁr*'enaﬂ% faaem 12% & 1 et
g e & zmr&i; HY W e T A
I .2 X
O
(2) Exp]aiuﬁc following :
(i)  Financial Engineering
(i) Financial System
(b) If the risk-free retumn is 10% and the
expected return on BSE index is 18% (and
risk measurement by standard deviation of
BSE index 1s 5%), how would you
*construct an efficient portfolio to produce a

16% expected retum and what would be its
risk 7

10
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@) FReffEa St e S
() fadg St
(i) ot worett

@ 3T iET.ge wawa 10% € 3T BSE
EaHF W YA Wawsd (8% & (BSE
Gahieh H HHES 9o §HT SiEw JO= 5%
#), at 16% Weier wfawer de wE & fae e
T QICHIeE = 5 w0 ot ead @
wifay g o

$

5. (a) Differentiate betwcé} Fundaniental
Analysis and Technic(?ijnalysis.

(b) A mutual fund madg an issue of 10,00,000
units of ¥ 10 eachon Jan 1, 2011. No entry
load was cha%%. It made the following
investments <

g ‘*’

(1) 5000 equity shares of| 80,00,000
100 each @ T 160

(2) 7% Govt. Securities 8,00,000

(3) 9% Deb. (Unlisted) | 5,00,000

(@)  10% Deb. (Listed) 5,00,000

98,00,000

9601 11 P.T.O.
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During the year, dividends of ¥ 12,00,000
were received on equity shares. Interest on
all types of Debt. Securities was received as
and when due. At the end of the year, the
equity shares and 10% deb. were quoted at
175% and 90% respectively. Find out the
Net Asset Value (NAV) per unit given that
the operating expenses paid during the year
amounted to ¥ 5,00,000.

(@) ST favet S A s
ARy | &,

(@) TF I e A | a}a’ﬁzon F T 10 T

10,00,000 qﬁza@% 1 v uR T fern

T TR ﬁrm%ﬁmﬁ frdw fo

< :

(1) 50400 A ¥ 80,00,000
70100 @, FRE IR
2160w

1) 7% T sleferdt 8,00,000
(3) 9% fea=r (3rgfem) 5,00,000
4) 10% fea=w (gfem) 5,00,000

98,00,000

9601 12
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a4 & A Sfre A W T 12,00,000 W9
I g @ | ot fem @t wor ufefet w
=, F A S geW, U & mar | 9 @
wufia 9T gfaet v it 10% & fea=rl =1
T Y 175% 3T 90% Fardi T+ wfd g
frae wigefa o (NAV) 9wl | T T
¢ % @ ad yaem w9 ey v fme go
- %5,00,000 ¢ |

OR/3gar
(a) Write shoit notes 6n :
(1) Investors’ Protectio@$
(i) Book- Bulding é 6

(b) The following in;‘gation is available for

PQR Ltd. for th 2010-11.
Annual Tumtﬂé&f 50,00,000
Operaling@ﬁts 20%
Equity %@r.e Capital (F V. T 100} 20,00,000
Capi@{ eserve 5,00,000
12% Pref. Share Capital 20,00,000
10% Long Term Loan 10,00,000
12% Debentures 10,00,000
Tax Rate 30%
Dividend Payout Ratio 50%
Price — earning Ratio 30

9601 13 P.T.O.
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(%)

(@)

Find out :
(i) Eaming per equity share

(i) Dividend per equity share

(ifi) Market price of the equity share

(iv) Earning yicld on equity share

(v) Dividend yield on equity share

Prafefaa w g feofoet fafau
() vt # g $
(i1) CS)

PQR.%{ﬁﬁEﬁv‘aﬁ 201%’5}' % forq fferfaa
AU ST E: N

I quatad @Q 50,00,000
TR A 5 20%
ELECURIETS §%7(F.V. %100) 20,00,000
i oo 5,00,000
12% aa@uw PR et 20,00,000
10% Ereafy o1 10,00,000
12% fea=at 10,00,000
T H T 10%
I T ST 50%
ITR- AT ST 30

14
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